nk'kfed bdkb;ksa ds dqN ifjorZu xq.kd

1
bap
=
25-4 feyhehVj



=
2-54 lsUVhehVj

1
xt
=
0-9144 ehVj

1 ehVj
=
1-09361 xt

1 ehy
=
1-609344 fd0eh0

1 fdyksehVj
=
0-62137 ehy

1 fdyskxzke
=
2-20463 ikSaM



=
1-07169 lSj

1 dqUry
=
2-67923 eu

1 eu
=
0-373242 dqUry

1 ehfVªd Vu
=
0-98420 Vu





=
26-7923 eu


1 Vu
=
1-01605 ehfVªd Vu

1 yhVj
=
0-219976 xSyu¼bEihfj;y½

1
xSyu¼bEihfj;y½
=
4-54596 yhVj

1 oxZ xt
=
0-83613 oxZ ehVj

1 ,dM+
=
0-40468 gsDVs;j

1 gsDVs;j
=
2-47109 ,dM+
1 oxZehy
=
2-58999 oxZ fd0eh0

1 oxZ fd0eh0
=
0-386101 oxZ ehy



=
100 gsDVs;j

…………………………………………………………………


XIX






